Reference: Verbal Conjugation Summary (2>72)

Summary in Romaji is included in your course packet!

Distal Form (Direct) (Direct) (Direct) (Direct) Gerund
Imp. Aff Imp. Neg P, Aff P, Neg

<Vowel. V> Root-3 Root-72 1> Root-7= Root-725>-> 7= | Root-T

Root-F 3"

[ Te% [V feiz TeIpinoic 72T

BAFE T (eat)

7 HD FRTRUN Iz FIRINo T2 HT

FLE T (see)

<Irregular V>

L %7 (do) T 5 L7220 L7z L7272 LT

& <5 T X7z Zleholz T

HEF (come)

<Consonant V> Root- 9 Root-a-nai Root-ta Root-a-nakatta Root-te

Root-\V £ 3

» %9 x*HPDLIR bl xhbirholz | H-T

2\ E T (meet)

* E3o) EtAN Eo7- EJtAS/ oY F£oT

155 E 9 (wait)

b PYIRYA) DINB IR Dol Db ihote | o T

e VENE

H Y F 7 (exist) oYA) £ 720N Hot= xR o T HoT

£ ray KXEL2N KATE L ERhoTz LAT

HiAF 7 (read)

S L5 FiE7ew KATE FiE7enoT7z LAT

FEOVE 7 (call)

L L L7720 LATZ L7g72 oz LAT

SEIZE T (die)

B3 (ESANCH (ERARRANA IRl X ehole | 1ERLT

7l L F 7 (speak)

7 < RVIRVAST A ININTRIN ST NANE

# X F 9 (write)

*f’ot\ BLLS BIBRN bSENAYS BIXhole | BIXWT

K E £7 (swim)

v W< [AVEvA * YN0 T WD o T W T

17& F£7 (go)

<Special Polite>

NWHoOLRWNET [ NHoLlse [HoLleh |[VHhole | NHoleb [ WHoL
V) A ~7= Ntz 25T




How do we derive a direct (perfective affirmative) form?

Consonant Verbals Vowel Verbals
-u/ tu/ ru > tta -5 > =
-mu/ bu/ nu - nda

-su - sita

-ku - ita

-gu - ida

T5 > L

<5 > &=

< > Vot



